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@ (x=y)?-wy(y-x) = (x=y)(x—y+xy)

@ 3a% -27b%* = 3(a + 3b)(a - 3b)

@64a3 —125 = (4a + 5)(16a% - 20a + 25)

@D (2-x) (2—x+1)=6=(2-x+3)(x+1)(x-2)

® 2x2-5x+3=(x—1)(2x-3)
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3. T2 T (a®+5H)?-4a20? & & A5 T A2

@ (a-b)(a+b)? @ (@~ 1)@ + 1?)
® (a-b)*(a®+b?) @ (a®-b?)(a+b)?

® (a-b)(a+b)(a®+ b*)?
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@+ b?)* - 4ap?
= (a2 +b% - 2ab) (a2 + b2+ 2ab)
= (a-b)*(a+b)*




4. ab(a-b)+bc(b-c)+ ca(c —a)E A5EolotA?

@—(a—b)(b—c)(c—a) @ -(a+b+c)la-b-c)
® —(a+b)(b+c)(c+a) @ (a+b)(b+c)(c+a)
® (a=b)(b-c)(c—a)
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A7k aol Hit WA= ATt &, Q=3
ab(a —b) + be(b - c) + ca(c — a)
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= (b-c)a® - (b*> - c?)a+be(b-c)
=(b-c)a®-(b+c)(b-c)a+be(b-c)
= (b-c){a® - (b+ c)a + bc}

= (b-c)la=b)(a=c)
=—(a-Db)(b-c)(c—a)
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oA o8 4202 - x -2,

(x=1) (3x* + ax + 2a) 9] 557} ojzpA o] HEF A4 g 9]
k= otofet.
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W22 -x-2=(x-1)(x+2)(x+1)

32 +ax+2aE
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M A f(x) = x% +x-2, g(x) =2x%> +3x -2, h(x) = x> + mx +8
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h(-2)=4-2m+8=0
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ﬁr 240 9] Hj-FF4E Hot=

(1996,240) = (240, (7h)= ((7}), 12) = (12, (H}))=()

O (7h="14, (h)=2 @ (7h=12, (th)=6
® (FH=718, (H)=2 @ (7h=16, (*H)=6

1996 = 240 - 8 4+ 76, 240 = 76 - 3 + 12
76=12-6+4 0|22
(1996, 240) = (240, 76) = (76, 12) = (12, 4) = 4




9.  (x+1)(x+2)(x+3)(x+4) —k7} o]ZA] o] hAAFA 07 Q)
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@1 o1 ® 0 @ 2 ® -2

~&B

(x+1D)(x+2)(x+3)(x+4) -k

=(x+1)x+4)(x+2)(x+3) -k

= (x> +5x+4)(x®> +5x+6) —k
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() =(X+4)(X+6) -k
=X2+10X+24 -k

A A O] HHH 24 -k =25
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10. x* +3x2 +4E H2A ASEFSH A2

O (2+x+1)(x2-2x+1) @ (2 +2x+2)(x2-x+2)
@(x2—x+2)(x2+x+2) @ (P+x-1)(x%-2x+1)

® (P+x-2)(x>+x+2)

x4+3x2+4:(x4~|—4x2+4)—
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a*(a+b)—b*(a+b)—c(a®>-b?) =0
(a+b)(a* — ac + bc—b?) =0
(a+b){((a-Db)(a+Db)—cla—b)) =
(a+b)a-b)la+b-c)=0
a+b>0,a+b—c>0°EZ2 a=0b
= b3l O 5WHZT
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@® 6800 @ 7000 @7200 @ 7400 ® 7600
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198 = x, 200 = y, 202 = z 2} 5}H
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(P 420+ D)+ 02+ 22+ 1) + (2 +22x+ 1)
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=(x+y+2)°>+3
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15. f(x) =x*+ax+b, g(x) = x* +cx +d7F T 20& W%
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ab—c+d9 27

A f(x), g(x) 2] HaFulsE 13 + 322 - 13x - 15°]Tt.
© f(1)=-4, 5(0)=5
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16. Aol AL7E 190 F |24 A, Bell Histe] 4, B9
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(A+B, A-B)=2x-3,[A+B, A-B|=2x> +x-6

2 WE ), 24, B = 07 2L S 2 AL

©2x3+5x2—6x—9 @ x34+4x2-2x-7
@ x*-3x2+5x-1 @ 3x* —x2+2x-1

® - +2x2-5x+7

B ~

A =aG, B =bG (a,p= X 2A) 2} otA}

(A+B,A-B) = ((a+b)G, (a-b)G) =2x-3 °|EZ
GE2x-3

T2tA A,BE= 2x - 328 WHFolHo{R| A g, b= A2 0T
T [A+B,A-B|=[(a+b)G,(a—b)G]=2x>+x-6
=(x+2)(2x-3) °|EE (a+b)(a-b)G = (x+2)(2x - 3)
“ (a+b)(a-b)=x+20]2

a, b B% dxpalo|m g

a+b=x+2a-b=10|2 s}l AF5}I] 2H
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17.

bx(a®x? + 2a%y? + b?y?) +ay(a2x2 + 2b%x% + b%y?) < 7hral
bx + ay bx + ay

H?

@® a?x? + b?%y? @(ax + by)?

® (bx+ay)? @ 2(a%x% + b%y?)

® (ax+ by)(bx + ay)

B

(B2 = bx(a®x? + 2a%y? + b*y?) + ay(a®x* + 2b%x* + b?y?)
= bx(a®x? + b*y?) + 2a*bxy?* + ay(a®x*> + b*y?) + 2ab*x>y
= (a’x* + b*y?)(bx + ay) + 2abxy(ay + bx)

= (bx + ay)(a®x? + 2abxy + b*y?)

= (bx + ay)(ax + by)?

w2bA, (£ )= (ax + by)?




& A (@ + b + ¢)(ab + bc + ca) — abe &) 157} obd A2

® a+b @ b+c ® c+a

@b—a ® -b-c

AN aofl Wi WAz o= A 2|5t
(a+ b+ c)(ab+ be + ca) — abe
(b+c)a + (b2 + 2bc + ¢?)a + be(b + )
+c){a*+ (b+c)a+bc}
( c)(a+b)(a+c)
L@ b-axe A7t o
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A P =xd+ax®+2x-1, 0 = x* +bx%2+109]
o) 7p4]0] B4 74 W, 20+ b GS Toteler,

P-Q=(a-b)x*+2x-2---0
P+Q=x{2x*+(a+b)x+2}---©

P, 00 Hlgot+E Gt o,

G P-05 P+ B0l

22t G = olFfol, P, @l

x2He o7} 082 @, 0 G
(a—b)x* +2x—20°]1L 2x% + (a + b)x + 2°]t}.
a-b=-2,a+b=-2

La=-2,b=0

L 2a+b=-4




